County	Population July 2023	Land Area Sq. Miles	Population Density	Ranking by Popu	ulation	Ranking by Density		
Allegany	67,273	422.2	159.3	1. Montgomery	1,058,474	1. Baltimore City	6,982.9	
Anne Arundel	594,582	414.8	1,433.4	2. Prince George's	947,430	2. Montgomery	2,146.5	
Baltimore City	565,239	80.9	6,982.9	3. Baltimore	844,703	3. Prince George's	1,963.0	
Baltimore	844,703	598.4	1,411.7	4. Anne Arundel	594,582	4. Anne Arundel	1,433.4	
Calvert	94,728	213.2	444.3	5. Baltimore City	565,239	5. Baltimore	1,411.7	
Caroline	33,593	319.4	105.2	6. Howard	336,001	6. Howard	1,338.9	
Carroll	176,639	447.6	394.6	7. Frederick	293,391	7. Harford	605.4	
Cecil	105,672	346.3	305.1	8. Harford	264,644	8. Calvert	444.3	
Charles	171,973	457.8	375.6	9. Carroll	176,639	9. Frederick	444.1	
Dorchester	32,879	540.8	60.8	10. Charles	171,973	10. Carroll	394.6	
Frederick	293,391	660.6	444.1	11. Washington	155,813	11. Charles	375.6	
Garrett	28,423	649.1	43.8	12. St. Mary's	115,281	12. Washington	340.4	
Harford	264,644	437.1	605.4	13. Cecil	105,672	13. St. Mary's	321.5	
Howard	336,001	250.9	1,338.9	14. Wicomico	104,800	14. Cecil	305.1	
Kent	19,303	277.0	69.7	15. Calvert	94,728	15. Wicomico	279.9	
Montgomery	1,058,474	493.1	2,146.5	16. Allegany	67,273	16. Allegany	159.3	
Prince George's	947,430	482.6	1,963.0	17. Worcester	54,171	17. Queen Anne's	141.3	
Queen Anne's	52,508	371.7	141.3	18. Queen Anne's	52,508	18. Talbot	140.8	
St. Mary's	115,281	358.6	321.5	19. Talbot	37,823	19. Worcester	115.7	
Somerset	24,910	319.7	77.9	20. Caroline	33,593	20. Caroline	105.2	
Talbot	37,823	268.6	140.8	21. Dorchester	32,879	21. Somerset	77.9	
Washington	155,813	457.8	340.4	22. Garrett	28,423	22. Kent	69.7	
Wicomico	104,800	374.4	279.9	23. Somerset	24,910	23. Dorchester	60.8	
Worcester	54,171	468.4	115.7	24. Kent	19,303	24. Garrett	43.8	
Total	6,180,253	9,711.2	636.4					

Maryland Population and Density

				Average Annual Change				
County	July 2000	July 2010	July 2023	2000-2010	2010-2023	2000-2023		
Allegany	74,804	74,968	67,273	0.0%	-0.8%	-0.5%		
Anne Arundel	491,670	539,305	594,582	0.9%	0.8%	0.8%		
Baltimore City	649,086	620,942	565,239	-0.4%	-0.7%	-0.6%		
Baltimore	755,598	806,654	844,703	0.7%	0.4%	0.5%		
Calvert	75,118	88,989	94,728	1.7%	0.5%	1.0%		
Caroline	29,773	33,054	33,593	1.1%	0.1%	0.5%		
Carroll	151,454	167,230	176,639	1.0%	0.4%	0.7%		
Cecil	86,448	101,161	105,672	1.6%	0.3%	0.9%		
Charles	121,229	147,159	171,973	2.0%	1.2%	1.5%		
Dorchester	30,581	32,689	32,879	0.7%	0.0%	0.3%		
Frederick	196,563	234,239	293,391	1.8%	1.7%	1.8%		
Garrett	29,838	30,144	28,423	0.1%	-0.5%	-0.2%		
Harford	219,797	245,236	264,644	1.1%	0.6%	0.8%		
Howard	249,590	288,618	336,001	1.5%	1.2%	1.3%		
Kent	19,252	20,213	19,303	0.5%	-0.4%	0.0%		
Montgomery	877,478	975,619	1,058,474	1.1%	0.6%	0.8%		
Prince George's	803,111	866,442	947,430	0.8%	0.7%	0.7%		
Queen Anne's	40,763	47,809	52,508	1.6%	0.7%	1.1%		
St. Mary's	86,498	105,772	115,281	2.0%	0.7%	1.3%		
Somerset	24,710	26,464	24,910	0.7%	-0.5%	0.0%		
Talbot	33,895	37,876	37,823	1.1%	0.0%	0.5%		
Washington	132,051	147,727	155,813	1.1%	0.4%	0.7%		
Wicomico	84,899	98,974	104,800	1.5%	0.4%	0.9%		
Worcester	46,828	51,500	54,171	1.0%	0.4%	0.6%		
Total	5,311,034	5,788,784	6,180,253	0.9%	0.5%	0.7%		

Population Growth in Maryland

				Percen	Percentage Point Change			
County	July 2000	July 2010	July 2023	2000-2010	2010-2023	2000-2023		
Allegany	7.5%	11.7%	13.7%	4.3	1.9	6.2		
Anne Arundel	20.2%	27.6%	37.9%	7.4	10.4	17.8		
Baltimore City	69.0%	71.9%	73.4%	3.0	1.5	4.4		
Baltimore	26.5%	37.4%	48.4%	10.9	11.0	21.9		
Calvert	17.0%	20.3%	25.4%	3.3	5.1	8.4		
Caroline	19.3%	21.7%	26.6%	2.4	4.9	7.3		
Carroll	4.8%	8.8%	14.7%	3.9	5.9	9.8		
Cecil	7.4%	12.6%	18.3%	5.3	5.7	10.9		
Charles	32.7%	51.8%	68.5%	19.0	16.8	35.8		
Dorchester	31.4%	34.0%	38.7%	2.6	4.8	7.4		
Frederick	11.9%	22.1%	34.6%	10.3	12.5	22.7		
Garrett	1.6%	2.7%	4.4%	1.1	1.7	2.8		
Harford	14.1%	20.8%	27.8%	6.7	7.0	13.7		
Howard	27.3%	40.9%	53.6%	13.6	12.7	26.3		
Kent	21.6%	21.8%	23.0%	0.1	1.2	1.4		
Montgomery	40.2%	50.7%	59.4%	10.5	8.7	19.1		
Prince George's	75.7%	85.0%	89.0%	9.3	4.0	13.3		
Queen Anne's	11.5%	12.6%	15.3%	1.1	2.8	3.8		
St. Mary's	19.6%	23.5%	28.6%	3.9	5.2	9.1		
Somerset	44.3%	47.8%	48.7%	3.5	0.9	4.4		
Talbot	18.8%	21.0%	25.5%	2.1	4.6	6.7		
Washington	10.9%	16.8%	27.1%	6.0	10.3	16.2		
Wicomico	28.5%	33.4%	40.8%	4.9	7.4	12.3		
Worcester	19.5%	19.5%	20.1%	0.0	0.6	0.6		
Total	37.8%	45.3%	52.7%	7.5	7.4	14.9		

Minority Share of Population in Maryland

				Avera	ge Annual Chang	je
County	July 2000	July 2010	July 2023	2000-2010	2010-2023	2000-2023
Allegany	5,606	8,805	9,189	4.6%	0.3%	2.2%
Anne Arundel	99,165	148,607	225,578	4.1%	3.3%	3.6%
Baltimore City	447,632	446,570	414,893	0.0%	-0.6%	-0.3%
Baltimore	200,400	301,626	408,996	4.2%	2.4%	3.2%
Calvert	12,750	18,041	24,039	3.5%	2.2%	2.8%
Caroline	5,744	7,181	8,938	2.3%	1.7%	1.9%
Carroll	7,330	14,644	25,901	7.2%	4.5%	5.6%
Cecil	6,367	12,763	19,344	7.2%	3.3%	5.0%
Charles	39,690	76,155	117,874	6.7%	3.4%	4.8%
Dorchester	9,589	11,102	12,731	1.5%	1.1%	1.2%
Frederick	23,306	51,842	101,464	8.3%	5.3%	6.6%
Garrett	479	809	1,256	5.4%	3.4%	4.3%
Harford	30,986	50,910	73,524	5.1%	2.9%	3.8%
Howard	68,066	117,976	180,155	5.7%	3.3%	4.3%
Kent	4,167	4,405	4,444	0.6%	0.1%	0.3%
Montgomery	353,169	494,635	628,434	3.4%	1.9%	2.5%
Prince George's	607,892	736,551	843,359	1.9%	1.0%	1.4%
Queen Anne's	4,684	6,013	8,052	2.5%	2.3%	2.4%
St. Mary's	16,920	24,848	33,028	3.9%	2.2%	3.0%
Somerset	10,946	12,660	12,136	1.5%	-0.3%	0.4%
Talbot	6,377	7,939	9,658	2.2%	1.5%	1.8%
Washington	14,332	24,858	42,227	5.7%	4.2%	4.8%
Wicomico	24,222	33,068	42,776	3.2%	2.0%	2.5%
Worcester	9,144	10,051	10,887	1.0%	0.6%	0.8%
Total	2,008,963	2,622,059	3,258,883	2.7%	1.7%	2.1%

Minority Population Growth in Maryland

County	White	African American	Hispanic/ Latino	Asian	American Indian	Native Hawaiian	Multi Racial	Minority Population
Allegany	86.3%	7.7%	2.1%	1.2%	0.2%	0.1%	2.4%	13.7%
Anne Arundel	62.1%	19.2%	10.7%	4.6%	0.2%	0.1%	3.1%	37.9%
Baltimore City	26.6%	59.9%	8.2%	2.7%	0.3%	0.0%	2.2%	73.4%
Baltimore	51.6%	31.1%	8.0%	6.4%	0.3%	0.0%	2.6%	48.4%
Calvert	74.6%	14.0%	5.5%	2.0%	0.4%	0.1%	3.4%	25.4%
Caroline	73.4%	13.2%	9.4%	1.1%	0.4%	0.0%	2.5%	26.6%
Carroll	85.3%	4.3%	5.3%	2.7%	0.2%	0.0%	2.1%	14.7%
Cecil	81.7%	8.2%	5.7%	1.5%	0.3%	0.1%	2.6%	18.3%
Charles	31.5%	52.6%	8.2%	3.4%	0.5%	0.1%	3.6%	68.5%
Dorchester	61.3%	28.4%	6.4%	1.1%	0.4%	0.0%	2.4%	38.7%
Frederick	65.4%	11.6%	13.2%	6.6%	0.2%	0.1%	3.0%	34.6%
Garrett	95.6%	1.1%	1.5%	0.5%	0.2%	0.0%	1.1%	4.4%
Harford	72.2%	15.6%	5.9%	3.3%	0.2%	0.1%	2.8%	27.8%
Howard	46.4%	20.8%	8.9%	20.3%	0.2%	0.1%	3.5%	53.6%
Kent	77.0%	13.5%	5.9%	1.4%	0.2%	0.0%	2.0%	23.0%
Montgomery	40.6%	19.3%	21.1%	15.8%	0.2%	0.0%	3.0%	59.4%
Prince George's	11.0%	59.9%	22.8%	4.1%	0.2%	0.0%	2.1%	89.0%
Queen Anne's	84.7%	5.9%	5.7%	1.3%	0.3%	0.0%	2.1%	15.3%
St. Mary's	71.4%	15.5%	6.3%	2.9%	0.4%	0.1%	3.4%	28.6%
Somerset	51.3%	40.0%	4.7%	0.9%	0.3%	0.0%	2.7%	48.7%
Talbot	74.5%	12.2%	9.6%	1.4%	0.2%	0.1%	1.9%	25.5%
Washington	72.9%	13.2%	8.4%	2.1%	0.2%	0.1%	3.2%	27.1%
Wicomico	59.2%	27.1%	7.2%	3.2%	0.2%	0.0%	3.0%	40.8%
Worcester	79.9%	12.2%	4.0%	1.6%	0.3%	0.0%	1.9%	20.1%
Total	47.3%	30.2%	12.6%	6.9%	0.2%	0.0%	2.7%	52.7%

Racial Composition in Maryland - July 2023

Population Growth by Racial Composition July 2000 to July 2023

County	White	African American	Hispanic/ Latino	Asian	American Indian	Native Hawaiian	Multi Racial	Total Population	Minority Population
Allegany	-16.1%	30.2%	130.7%	101.0%	-3.1%	45.2%	254.0%	-10.1%	63.9%
Anne Arundel	-6.0%	71.8%	380.3%	135.5%	3.6%	57.5%	198.0%	20.9%	127.5%
Baltimore City	-25.4%	-18.9%	307.2%	53.0%	-25.7%	11.6%	101.0%	-12.9%	-7.3%
Baltimore	-21.5%	72.6%	374.1%	120.1%	18.3%	57.1%	208.0%	11.8%	104.1%
Calvert	13.3%	34.5%	343.5%	196.6%	60.3%	180.5%	286.7%	26.1%	88.5%
Caroline	2.6%	1.0%	295.7%	130.0%	22.0%	87.5%	202.9%	12.8%	55.6%
Carroll	4.6%	125.1%	479.1%	328.1%	19.4%	62.7%	326.5%	16.6%	253.4%
Cecil	7.8%	158.6%	327.3%	165.3%	25.7%	92.5%	271.7%	22.2%	203.8%
Charles	-33.7%	186.3%	399.6%	162.0%	5.6%	113.5%	202.6%	41.9%	197.0%
Dorchester	-4.0%	8.1%	438.3%	79.4%	25.0%	550.0%	214.5%	7.5%	32.8%
Frederick	10.8%	172.9%	699.6%	475.8%	56.7%	143.5%	292.5%	49.3%	335.4%
Garrett	-7.5%	95.8%	219.8%	196.0%	66.7%	N/A	219.1%	-4.7%	162.2%
Harford	1.2%	103.6%	262.7%	155.8%	25.2%	55.5%	192.5%	20.4%	137.3%
Howard	-14.1%	93.5%	283.8%	248.5%	17.3%	91.1%	184.7%	34.6%	164.7%
Kent	-1.5%	-21.9%	126.9%	145.0%	-43.5%	66.7%	150.3%	0.3%	6.6%
Montgomery	-18.0%	52.7%	118.9%	65.1%	-7.1%	10.1%	126.3%	20.6%	77.9%
Prince George's	-46.7%	12.6%	270.8%	21.2%	-8.1%	6.1%	68.8%	18.0%	38.7%
Queen Anne's	23.2%	-12.3%	510.2%	197.8%	37.3%	380.0%	255.6%	28.8%	71.9%
St. Mary's	18.2%	49.5%	299.1%	116.9%	47.8%	82.5%	222.9%	33.3%	95.2%
Somerset	-7.2%	-1.8%	234.6%	73.9%	-14.1%	N/A	201.3%	0.8%	10.9%
Talbot	2.4%	-10.5%	490.8%	89.2%	11.8%	2200.0%	224.7%	11.6%	51.5%
Washington	-3.5%	102.1%	685.4%	212.1%	35.4%	80.7%	312.2%	18.0%	194.6%
Wicomico	2.2%	43.4%	299.4%	117.1%	54.2%	-10.5%	317.0%	23.4%	76.6%
Worcester	14.9%	-14.7%	252.2%	201.7%	55.1%	38.5%	194.3%	15.7%	19.1%
Total	-11.5%	26.0%	235.6%	97.5%	5.0%	49.5%	161.6%	16.4%	62.2%